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Q.1: 1 puitiwell e dadig die wose puitiue) dilee LUS Mark(s): 5/5

Which is an equation of the line that bl Lol adiceall dlslas o 9.\5 Laa ,_-;i
passes through €(4,6)5(—2,—6)

(-2, —6) and (4,6)?

o MAT.2.02.19.007

‘ Learning Outcomes Covered ‘IT




Q.2; *x*k* BONUS **#** 1 dilboll doyddl OVdleo J>

Solve the equation

2|2y — 1| = —10.

Mark(s): 4/4

dlaleal) Ja

—2[2y—1] = -10

‘ Learning Outcomes Covered ‘I»

o MAT.2.02.07.022




Q.3: 11 duwldll )0l dbazdl dsleadl LS Mark(s): 5/5

Write 2x — 3y — 9 = 0 in standard  .d.uldll diwall 2x — 3y — 9 = 0

form.

‘ Learning Outcomes Covered %

o MAT.2.02.19.004

2x+3y+9=0




Q4: 1 yuSellg & pz pulei | ddballl yuledl dozyi Mark(s): 5/5

Which algebraic expression B el Jla Ayl yusladl) v

represents the verbal expression €4 o 36 daud gili L) lae 5
H Aad EI !

“5 more than the quotient of a

number and 477

‘ Learning Outcomes Covered ‘IT

o MAT.2.02.18.005




Q.5: 1 U > dxhsdl OVslsall dalsii Jo>

Solve the system of equations.

x—7y=11
5x+4y=-23

l Learning Outcomes Covered |

oY el AU Ja
x—7y=11
5x + 4y =-23

Mark(s): 5/5

A

<

3

o MAT.2.02.15.002

2y

no solutions

| sl e A s

infinite solutions




Q.6: 1 g8 (e Soixd (Wil yuleillg 2=l Ql;,.)l;i by deawsg wpd Mark(s): 5/5

Simplify (—x~2y%)(2x*y3). (—x72y5) (2x*y™3) suadl) haiy
Assume that no variable equals 0. 0 Golew piia 2aps Y 4l a8

o MAT.5.02.05.001

‘ Learning Outcomes Covered "lr




Q7: 1 Sbghuaall (e & > Sldac eyl Mark(s): 5/5
If ol 1)

B = [13 _17] and 4 = [0 _] 4= [8 _7] B= [13 —1'7

find 34 — B. .34 — B 1

‘ Learning Outcomes Covered ‘IT

o MAT.2.03.01.004




Q.8: 1 Jlgallg UMl Jul=i Mark(s): 5/5

Find the range of the relation, Aal) ClS 1) La dda Al cABMadl (Sda dag
then determine whether the relation A s Bl

is a function.

Learning Outcomes‘overFF

o MAT.2.02.19.001

{24, -8}

{2, 4, —8}; function

LAl Cuad <{—6, —4, 14}

b

E{—6, —4,14}; not function

s {—6,—4, 14}

{—6,—4, 14}; function

A3 il {2, 4, —8)

{2, 4, —8}; not function




Q.9: 1 julill doys Y Sllesll) L.JlJ_ngi) iy plasiwl Mark(s): 5/5

Evaluate x* + (5x + y)? if cols 13 23 4+ (5x 4 y)? dad aagl
x=—-1andy=4. .y=4yx=-1

Learning Outcomes Covered "»

o MAT.2.02.18.001




Q.10: 1 dgholl dawd)l plaziwl dgazl OlyiS daws Mark(s): 5/5

Simplify. Boyabad Je
(b3+2bz—b—2)+(b+2) (b3+2b2—b—2)+(b+2)

‘ Learning Outcomes Covered %

o MAT.5.02.05.003




Q.11: 1 Olghbl $ra=ie Slgliall J> Mark(s): 5/5

Write the inequality using interval SN Ay ASS A AN o 50
notation.

~ e p———————*
5 6 7 8 9 10 11 12 13 v

‘ Learning Outcomes Covered ‘IT

o MAT.2.02.18.008

. i S T TS R e
(~o0,11]




Q.12: 11 & =l yuleill dogs Sly) diaizll slacll yolgs plaziwl Mark(s): 5/5

Find the multiplicative inverse for the A5 aall riral) GagSaal) a4l
number V5.

‘ Learning Outcomes Covered ,\}

o MAT.2.02.18.004




Q.13: 1 dlgluall yolgs plaziwl OVoleoe J> Mark(s): 5/5

Solve the equation wx + yz = bc dsaall Ja

wx + yz = bc for the variable z. .Z yada) ANy

Learning Outcomes Covered ;[F

o MAT.2.02.18.006




Q.14: 1 dwwlidll b)gall dbazdl dsleadl LS Mark(s): 5/5

Find the x -intercept of the graph Al Jaall x giﬁl 5l 2 adaldll) aagf
of 2x — 5y = 10. 2x — 5y = 10 alslaall

‘ Learning Outcomes Covered "»

o MAT.2.02.19.004




Q.15: 1 (uuSyill yagsill plaziwl Jlgal as sl Mark(s) 5/5

If f(x)=4x*—-3x+7 f(x) = 4x% —3x+ 7 O3S N)
find f(2m?). S(2m?) s

‘ Learning Outcomes Covered ;lr
o MAT.5.02.05.011

16m*—-3m?+7




Q.16: 1 pudie Juo Myaxi Mark(s): 5/5

Find the slope of the line that Cuihtill jlal) asliceal) Jia 2l

passes through (1,—3) and (3,5). .(3,5)5(1,-3)

‘ Learning Outcomes Covered ;'r

o MAT.2.02.19.006




Q.17: 1 >93=dl 58S Jlgall sysually weddsdl audll sl Mark(s): 5/5

Estimate the x-coordinate at which a Ghua dad sdic dagi sl X ) 8 ‘
relative minimum occurs. ’ Lo
L]
F
v
Learning Om
o MAT.5.02.05.008

—-1.5




Q.18: **¥¥* BONUS *#*** 1 Syl oy snill plaziwl ¥ ol 393> 8,uS) Vole 2> dulii CulS 13] Lo ayazi Mark(s): 4/4

Find value of k so that remainder is 4. A AL (s g Gy | Aad 2a
(ZZ-2x+k)=(x—-1) (x2—-2x+k)=(x—1)

‘ Learning Outcomes Covered ;[F

o MAT.5.02.05.012




Q.19: 1 &loll Jlgall plaziwlg dya=i Mark(s): 5/5

Write an equation for the graph U asal) ,l,..n,.n Juiaall dlslaa 3S)

shown below.

24

‘ Learning Olcomes Covered ;Ir

o MAT.5.06.02.001




Q.20: 1 Obghuoell Lo Mark(s): 5/5

Find the product [_g] [-3 -1] [_g] J-3  —1] qual =t syl
if possible. oSal ¢

o MAT.2.03.01.005

l Learning Outcomes Covered ;lr

not possible




Q.21: *rxwx BONUS *++# 1 Jolgsl Il Julzi)] plaiionly 392l SilyiS S¥slse J>

Mark(s): 4/4
The volume of the figure blow is gUS) aagl 440 cm® sLal JSA aaa il "
440 cm?3. Find height of the figure. -Jeal

‘ Learning Olcomes Covered %'r

o MAT.5.02.05.010




Q.22: 1 & pzdl yulail doyd Syl dusyd=ll Sl wolgs plaziwl Mark(s): 5/5

Simplify BT
4(4x — 9y) + 8(3x + 2y). 4(4x — 9y) + 8(3x + 2y)

‘ Learning Outcomes Covered "»

o MAT.2.02.18.004

VNIV V-0 WV C L R U

d.

24x + 16y



Q.23: *rHxk BONUS ***** 1 il Jadadlly Oligliel! dalail J> Mark(s): 4/4

Which system of inequalities is Tl Jaal) Cililial) ol L *
graphed?
Learning OEcomes Covered ‘ﬁ

o MAT.2.02.15.003

2x—-y=2
x+3y< 6




Q.24: 1 juid ghuoe Sgbwi duols e WSy=ill Mark(s): 5/5

Find the value of x and y if the Olghaal) SIS 1) y g x dad

following two matrices are equal. .,;g.‘._.,_,l.uh

[x—3 6]:[—4 6] [x—3 6]:[—4 6]
3 2 2y -9 2 3 2 2y —9 2

o MAT.2.03.01.002

‘ Learning Outcomes Covered “T




Q.25: *rxwx BONUS **+# 1 dallnall dagill Jlgag duzyall Jlgal Jsiedsy &S

For which function is the range

F@If(x) <0}

Mark(s): 4/4

Sl O g Al Y
U ()If(x) < 0}

‘ Learning Outcomes Covered ;'r

o MAT.5.08.01.004




